

REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: BAUAN TECHNICAL INTEGRATED HS

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	VE ASSES	SMENT RE	SULTS				For Background Investigation (Y/N)		For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-007-2025	20	12	12	12	12	6	2.000	1	77.000					
2	029-SDO-JHS-MTCH2-008-2025	0	12	0	12	0	12	0.000	5	41.000					

Prepared by the HRMPSB

(All members should affix signature)

DARIO L. UNTALAN DBPTAI President HRMPSB Member

AO V - HRMO HRMPSB Member LOU C. PANALIGAN Administrative Officer V HRMPSB Member MARIO B. MARAMOT OIC-SCOD Chief HRMPSB Member

RHINA O. ILAGAN PhD
OIC-Assistant Schools Division

Superintendent
HRMPSB Chairperson

Appointment conferred by:

MARITES A. IBANEZ, CESO V
Schools Division Superintendent
Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: BILARAN_NHS/NASUGBU EAST

Plantilia Item Number: Date of Final Deliberation:

To be determined

NO		Anna North and Golden			co	MPARATI	/E ASSES	SMENT RE	SULTS				For Bac Invest (Y,	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
N.	O	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
	1	029-SDO-JHS-MTCH2-027-2025	0	0	12	12	12	0	0.000	2	38.000					***

Prepared by the HRMPSB

(All members should affix signature)

HRMPSB Member

DARIO L. UNTALAN
DBPTAI President

AO IV - HRMO HRMPSB Member LOU C PANALIGAN
Administrative Officer V
HRMPSB Member

MARIO B. MARAMOT
OIG-SGOD Chief
HRMPSB Member

RHINA O. ILKGAN PhD
OIC-Assistant Schools Division
Superintendent

HRMPSB Chairperson

Appointment conferred by:

MARITES A. IBANEZ, OESO V
Schools Division Superintendent
Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II Office/Bureau/Service/Unit where the vacancy exists: CAHIL NHS/CALACA

Plantilla Item Number: Date of Final Deliberation: To be determined

	APPLICATION CODE			со	MPARATI	/E ASSES	MENT RE	SULTS				For Background Investigation (Y/N)		For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-013-2025	20	12	12	0	12	6	1.000	0	63.000					

Prepared by the HRMPSB

(All members should affix signature)

DBPTAI President HRMPSB Member

AO IV - HRMO HRMPSB Member

Administrative Officer V

HRMPSB Member

HRMPSB Member

RHINA O. ILAGAN PhD

OIC-Assistant Schools Division Superintendent HRMPSB Chairperson

Appointment conferred by:

Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: DAGATAN INHS/TAYSAN

Plantilla Item Number: Date of Final Deliberation: To be determined

				CO	MPARATI	Æ ASSESS	MENT RE	SULTS				For Bac Invest	gation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-009-2025	20	12	12	12	12	12	1.000	0	81.000					

Prepared by the HRMPSB (All members should affix signature)

DBPTAI President HRMPSB Member AO IV - HRMO

HRMPSB Member

LOU C. Administrative Officer V HRMPSB Member

HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent

Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: DAGATAN INHS-SHS

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	/E ASSESS	MENT RE	SULTS				For Bac Invest (Y	RESTRICT	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of
1	029-SDO-SEC-MTCH2-002-2025	20	12	12	0	12	0	0.000	0	56.000					

Prepared by the HRMPSB (All members should affix signature)

DBPTAI President

HRMPSB Member

V IV - HRMO HRMPSB Member Administrative Officer V HRMPSB Member

HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent

Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II Office/Bureau/Service/Unit where the vacancy exists: DR. CRISOGONO B. ERMITA SR. MNHS/NASUGBU WEST

Plantilla Item Number: Date of Final Deliberation: To be determined

													kground igation /N)	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SD0-JHS-MTCH2-025-2025	20	12	12	0	12	12	0.000	0	68.000	***************************************				
2	029-SDO-JHS-MTCH2-030-2025	20	0	0	12	12	12	1.000	2	59.000				· · · · · · · · · · · · · · · · · · ·	

Prepared by the HRMPSB

(All members should affix signature)

HRMPSB Member

HRMPSB Member

Administrative Officer V HRMPSB Member

OIC-Assistant Schools Division Superintendent

HRMPSB Chairperson

MARIZES A. IBAÑEZ, CE

Appointment conferred by:

Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1_of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: ITLUGAN INHS

Plantilla Item Number: Date of Final Deliberation: To be determined

			••	co	MPARATI	ve assess	MENT RE	SULTS				For Bac Invest (Y	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-SEC-MTCH2-001-2025	20	12	12	12	12	12	0.000	1	81.000					

Prepared by the HRMPSB

DBPTAI President

HRMPSB Member

(All members should affix signature)

AO IV - HRMO HRMPSB Member Administrative Officer V HRMPSB Member

HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: GOV. FELICIANO LEVISTE MNHS

Plantilla Item Number: Date of Final Deliberation:

To be determined

NO	Anniicent Code			со	MPARATI	ve asses:	SMENT RE		For Background Investigation (Y/N)		For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1			
NO	Applicant Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-021-2025	20	12	12	12	12	12	3.00	3.00	86.000					
2	029-SDO-JHS-MTCH2-022-2025	20	12	12	0	0	12	0.00	7,00	63.000	·····				

Prepared by the HRMPSB
(All members should affix signature)

DARIO L. UNTALAN DBPTAI President HRMPSB Member

AO IV - HRMO HRMPSB Member LOC C. PANALIGAN Administrative Officer V HRMPSB Member MARIO B. MARAMOT OIC-SGOD Chief HRMPSB Member RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent

HRMPSB Chairperson

Appointment conferred by:

MARITES A. IBAÑEZ, CESO V Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: LIAN NHS

Piantilla Item Number: Date of Final Deliberation:

To be determined

NO				co	MPARATI	VE ASSESS	MENT RE	SULTS				For Back Investi (Y/	gation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-028-2025	20	0	12	12	0	6	0.000	2	52.000					

Prepared by the HRMPSB

(All members should affix signature)

DBPTAI President HRMPSB Member

HRMPSB Member

LOU C/PANALIGAN Administrative Officer V HRMPSB Member

OIC EGOD Chief HRMPSB Member **OIC-Assistant Schools Division** Superintendent HRMPSB Chairperson

Appointment conferred by:

MARITES A. IBAÑEZ, LESO V Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II Office/Bureau/Service/Unit where the vacancy exists: LOOC NHS Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	/E ASSES	ment re	SULTS				For Bac Invest	gation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-014-2025	20	12	0	12	12	12	1.750	0	69.750					

Prepared by the HRMPSB (All members should affix signature)

HRMPSB Member HRMPSB Member

Administrative Officer V

HRMPSB Member

HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent **Appointing Authority**



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: LUCSUHIN NHS

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	ve asses:	SMENT RE	SULTS				For Bac Invest	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-029-2025	20	12	0	0	12	6	3.000	5	58.000					

Prepared by the HRMPSB
(All members should affix signature)

DARIO L UNTALAN
DBPTAI President
HRMPSB Member

JOEMAR B. PEREZ AO IV - HRMO HRMPSB Member LOU C. PANALIGAN Administrative Officer V HRMPSB Member

MARIO W. MARAMOT OIC-EGOD Chief HRMPSB Member

RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent
HRMPSB Chairperson

Appointment conferred by:

MAXITES A. IBANEZ, CESO V Schools Division Superintendent Appointing Authority

DETED BACONG PILIPINAS

Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: MKAHOY NHS

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	VE ASSES	SMENT RE	SULTS				For Background Investigation (Y/N)		For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-012-2025	0	0	0	0	0	0	0.000	0	0.000					

Prepared by the HRMPSB (All members should affix signature)

> DBPTAI President HRMPSB Member

AO IV - HRMO HRMPSB Member Administrative Officer V HRMPSB Member

HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II
Office/Bureau/Service/Unit where the vacancy exists: PADRE GARCIA INHS/PADRE GARCIA

Plantilla Item Number: Date of Final Deliberation: To be determined

			COMPARATIVE ASSESSMENT RESULTS									Invest	For Background Investigation (Y/N)	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-003-2025	20	12	12	o	12	6	7.000	0	69.000					
2	029-SDO-JHS-MTCH2-004-2025	20	12	12	0	12	6	2.000	0	64.000					

Prepared by the HRMPSB (All members should affix signature)

DARIO L. UNTALAI DBPTAI President HRMPSB Member JOEMAR B. PEREZ
AO IV - HRMO
HRMPSB Member

LOUC. PANALIGAN Administrative Officer V HRMPSB Member MARIO B. MARAMOT QIC-SQD Chief HRMPSB Member

RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent
HRMPSB Chairperson

Appointment conferred by:

Schools Division Superintendent
Appointing Authority

DETED BAGONG PILIPINAS



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II
Office/Bureau/Service/Unit where the vacancy exists: PANSOL INHS/PADRE GARCIA

Plantilla Item Number: Date of Final Deliberation;

To be determined

			COMPARATIVE ASSESSMENT RESULTS							Invest	kground igation /N)	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1		
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-OO1-2025	20	12	12	12	12	12	3.000	1	84.000					
2	029-SDO-JHS-MTCH2-002-2025	20	12	12	12	12	12	1.000	0	81.000					

Prepared by the HRMPSB

(All members should affix signature)

DARIO L. UNITALAN DBPTAI President HRMPSB Member JOEMAR BY PEREZ AO IV - HRMO HRMPSB Member LOUC. PAYALIGAN Administrative Officer V HRMPSB Member MARIO B. MARAMOT OIC SGOD Chief HRMPSB Member RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent
HRMPSB Chairperson

Appointment conferred by:

MAXITES A. IBAÑEZ, ESO V Schools Division Superintendent Appointing Authority

DEPLED BAGONG PILIPINAS



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II
Office/Bureau/Service/Unit where the vacancy exists: PANTALAN SHS/NASUGBU WEST

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	VE ASSESS	MENT RE	SULTS					kground igation /N)	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-SEC-MTCH2-003-2025	20	12	12	0	12	6	2.000	5	69.000					

Prepared by the HRMPSB

(All members should affix signature)

AO IV - HRMO HRMPSB Member

DBPTAI President HRMPSB Member H LOU C. PANALIGAN

Administrative Officer V

HRMPSB Member

MARIO B. MARAMOT
OR-SOOD Chief
HRMP B Member

Klym V. Llyn RHINA O. ILAGAN PhD OIC-Assistant Schools Division

Assistant Schools Divis:
Superintendent
HRMPSB Chairperson

Appointment conferred by:

MADITES A. IBAÑEZ, CESO V Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: PEDRO A. PATERNO NHS/CALACA

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	ve asses:	SMENT RE	SULTS				For Bac Invest	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SD0-JHS-MTCH2-023-2025	20	12	12	12	12	5	0.000	0	73.000					

Prepared by the HRMPSB

DBPTAI President

HRMPSB Member

(All members should affix signature)

AO IV - HRMO HRMPSB Member Administrative Officer V HRMPSB Member

OIC-Assistant Schools Division

Superintendent HRMPSB Chairperson Appointment conferred by:

Schools Division Superintendent Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: STA. TERESITA NHS

Plantilla Item Number: Date of Final Deliberation:

To be determined

				co	MPARATI	VE ASSES	SMENT RE	SULTS				For Bac Invest (Y,	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
МО	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-010-2025	20	12	12	7	0	6	0.000	1	58.000	•	İ.,			

Prepared by the HRMPSB

DBPTAI President

HRMPSB Member

(All members should affix signature)

OEMAR B. PEREZ AO IV - HRMO HRMPSB Member

Administrative Officer V HRMPSB Member MARIO B. MARAMOT OIC-SGOD Chief Rhina O. ILAGAN
Assistant Schools Division

Assistant Schools Divisio Superintendent HRMPSB Chairperson

Appointment conferred by:

Schools Division Superintendent
Appointing Authority





Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II

Office/Bureau/Service/Unit where the vacancy exists: SAN PIRO NHS/BALAYAN WEST

Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	ve asses	ement re	SULTS				For Bac Invest	gation	For Appointment (To filled-out by the	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
	029-SDO-JHS-MTCH2-026-2025	20	12	12	0	0	12	1.500	0	57.500					

Prepared by the HRMPSB
(All members should affix signature)

DARIO L. UNTALAN DBPTAI President HRMPSB Member OEMAR B PEREZ AO IV - HRMO HRMPSB Member Lou C. PANALIGAN Administrative Officer V HRMPSB Member

MARIO W. MARAMOT OIC-SGOD Chief HRMPSW Member RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent

HRMPSB Chairperson

Appointment conferred by:

MAXITES A. IBANEZ, CESO V
Schools Division Superintendent
Appointing Authority

DETED SAGONG PILIPINAS

Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II Office/Bureau/Service/Unit where the vacancy exists: TAYSAN SAN JOSE INHS/TAYSAN Plantilla Item Number: Date of Final Deliberation: To be determined

				co	MPARATI	Æ ASSESS	MENT RE	SULTS				For Bac Invest	igation	For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
МО	APPLICATION CODE	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks Yes	No	Officer/Authority; ye Please sign opposite the name of the the pu	year) if nature of appointment falls under he purview of Item 73 of DO No. 19, s. 2022	
1	029-SDO-JHS-MTCH2-OO6-2025	20	12	12	12	0	6	0.000	0	62.000	<u> </u>				

Prepared by the HRMPSB

(All members should affix signature)

DBPTAI President HRMPSB Member

AO IV - HRMO HRMPSB Member Administrative Officer V

HRMPSB Member

OIC-Assistant Schools Division Superintendent HRMPSB Chairperson

Appointment conferred by:

Schools Division Superintendent Appointing Authority



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone: (043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II
Office/Bureau/Service/Unit where the vacancy exists: TUMALIM NHS/NASUGBU EAST

Plantilla Item Number: Date of Final Deliberation: To be determined

NC					co	MPARATI	/E ASSESS	SMENT RE	SULTS				For Background Investigation (Y/N)		For Appointment (To filled-out by the Appointing	For probation Please identify period of Probation (6 months or 1
	0	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Rem 73 of DO No. 19, s. 2022	
1	1	029-SDO-JHS-MTCH2-024-2025	20	12	12	12	12	12	0.000	0	80.000					

Prepared by the HRMPSB
(All members should affix signature)

DARIO L. UNTALAN DBPTAI President HRMPSB Member AO IV - HRMO HRMPSB Member LOU C. PANAMGAN Administrative Officer V HRMPSB Member NARIO B. MARAMOT OIC-SOOD Chief RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent

HRMPSB Chairperson

Appointment conferred by:

MAPITES A. IBANEZ, CESO V
Schools Division Superintendent
Appointing Authority

DETED BAGONG PILIPINAS



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1



REGION IV-A CALABARZON SCHOOLS DIVISION OF BATANGAS

COMPARATIVE ASSESSMENT RESULT - REGISTRY OF QUALIFIED APPLICANTS (CAR-RQA)

Position: MASTER TEACHER II
Office/Bureau/Service/Unit where the vacancy exists: WENCESLAO TRINIDAD MNHS

Plantilla Item Number: Date of Final Deliberation: To be determined

			·-	со	MPARATI	VE ASSESS	SMENT RE	SULTS			******			For Appointment (To filled-out by the	For probation Please identify period of Probation (6 months or 1
NO	Application Code	A (20 pts)	B (12 pts)	C (12 pts)	D (12 pts)	E (12 pts)	F (12 pts)	G (10 pts)	H (10 pts)	Total (100 pts)	Remarks	Yes	No	Officer/Authority; Please sign opposite the name of the applicant)	year) if nature of appointment falls under the purview of Item 73 of DO No. 19, s. 2022
1	029-SDO-JHS-MTCH2-015-2025	20	12	12	12	12	6	2.000	0	76.000					
2	029-SDO-JHS-MTCH2-016-2025	20	12	12	0	12	6	1.000	0	63.000					

Prepared by the HRMPSB (All members should affix signature)

DARIO LUNTALAN
DBPTAI President
HRMPSB Member

JOLMAR B. PEREZ AO IV - HRMO HRMPSB Member LOU C. PANALIGAN
Administrative Officer V
HRMPSB Member

MARIO B. MARAMOT ON SCOD Chief HRMPSB Member

RHINA O. ILAGAN PhD
OIC-Assistant Schools Division
Superintendent

HRMPSB Chairperson

Appointment conferred by:

MARITES A. IBAÑEZ, CESO V Sphools Division Superintendent Appointing Authority

DETIED BAGONG PILIPINAS



Address: Provincial Sports Complex, Bolbok, 4200 Batangas City

Telephone:(043)722-1840 / 722-1796

Email Address: deped.batangas@deped.gov.ph

Doc. Ref. Code	SDO-OSDS-F090	Rev	00
Effectivity	06.10.24	Page	1 of 1